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2C1" - 2e - C1,
2H" + 2e - H,



Cu?t + 2¢ - Cu
Zn -2e - Zn?"

Zn
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Faraday) 1833



M/z Az M A y4

CuCl,
2CI - 2e - CI,
Cll2+ +2¢e - Cu

CL/2 Cu/2

F
F=Le=6.023x 10¥mol-'x 1.6022x 10 °C
F =96484.4C.mol'= 96500C.mol!

1F



1F
6-1 25 101.325kPa
965C

Cu? 2¢ —» Cu
2H Ze - H2

n=n 1/2Cu N

H

CuSO,
0.2859g

107.88¢

1/2Cu H



N=0Q/F=965/96500=0.01000 mol
n 1/2Cu =0.2859% 2/63.54 = 0.008999 mol
nNn H =n n Cu =0.01000mol 0.008999 mol

= 0.00100 mol
V() = n(HTO)RT

_ om)mo;):fotf;;;z% 05 5 _ o tm10dm’
3.

G=1/R 6-1-1



A
G =« N 6-1-2
S.m™!
Im? Im
Im Imol
/lm
C mol.m? Imol Imol/c



Imol

c =1mol.m™ V=1mJ,

/l =k [Imol.m3

Cc=2mol.m™ V=0.5m3,

/l =k [2mol.m3

¢ =3mol.m> V="Ysm3,
N _=KlcC
S.m2.mol!
C mol.m™

A 1/2CuSO,

m

1m?2

A =k [3mol.m™
6-1-3
C
/1~ NaCl

m



6 -1-4

6-1-5

6-1-5



6-1-1 25 KCl

K/ S.m! 11.19 1.289 0.1413 0.01416 0.001489
6-1-5
6-1-3
6-2 25 0.01mol.dm>KClI
150Q 0.01mol.dm>HCI
51.4Q
1

2  0.0lmol.dm>HCI
3 0.0lmol.dm>3HCI



6-2 25 0.01mol.dm=3KClI
150Q 0.01mol.dm>3HCI

51.4Q
1
2 0.0lmol.dm>HCI
3 0.01mol.dm~HCI
0.01mol.dm> KCl 0.1413S.m!

=K (KC1) /G (KCl) =k (KCI)x R (KCI)
=0.1413%x 150m~!'=21.95m"!
kK (HCl) =K_,x G HCl =K_,/R HCI

=21.59m'1/51.4Q =0.4124 S.m™!

AN =k [c=0.4124 Sm'/0.01lmol.dm= x 1000

=(0.04124S.m%.mol"!

K

cell
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H,S0,
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MgSO
S°Y4 CH,COOH
0o 5 10 15
c/(molldm3)
6-3




400

(TY)
S
e
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CH,COOH

6-4

0.5 1.0

\/ c,/mol [dm™

(298.15K)
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HCI NaOH AgNO;,
-0 /

m

A =N - AJc 6-1-6

CH,COOH



6 1 225
KCl 0.014896 HCl 0.042616
LiCl 0.011503 34.83x 104 HNO, 0.04213 4.9x 104
KClO, 0.014004 KCl 0.014896
LiClO, 0.010598 35.06x 10 KNO, 0.014496 4.9x 104
KNO, 0.01450 LiCl 0.014896
LiNO, 0.01101 34.9x 104  LINO, 0.01101 4.9x 10




A= e
6-1 -3 25
A _® HOAc =/
= A > H
A = CI-
=A = HCI

VANALS
H N
N _*  OAc"
/1 _* Na
/1 NaOAc

m

/l 00

6-1-7



6-1-8

6-1-9

6-1-
10




AA BB

5mol 5mol
4F
V,= V.
2F AA BB
2mol
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2mol soo-teeeee 966
A B




3mol

Imol

3F IF
AA BB 3mol Imol
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Vi _ _ Q+
V_ Q_
__Q _ v -
Q +Q. v, +u.
> 6-1-11
Q. U
Q. +Q v, tu -

dE/d |



v, =U, — v.=U_— 6-1-12
dl dl
U, U
- U, . U_
" U, +U_ T U, +U_ 6-1-13
6-1-4 25
U, U H* OH-

Hittorf



Ao
B
kit
x
5
B
&

o——
6 6
n =n -n t.,=n /n
n=n-n +n n =n +n -n

t =n /n







6-3 AgNO, AgNO,
43.5mmol.kg!, 0.723mmol
23.14¢ 1.390 mmolAgNO,
t Ag t NO,

AgNO;,
Ag- ¢ - Ag
Ag e - Ag
0.723mmol Q=
0.723% 10-3F 0.723mmol
AgNO,_ n( )
_43Bx10°

X 23 [14mol =1.007mol

) 1000



t

Ag n( )=0.723mmol

Ag n( )=1.390mmol
n
=n n n
= 1.007+0.723 1.390 x 1073 mol
=(0.340% 10-3mol
0.340% 10-3F Ag
HAg ") = 0 [340 ><10_33 047
0723 x10

NO, =1t Ag =1 047=0.53



HCl
CdCl,



HCl
CdCl,

CdCl,
HCI

HCl

Cdcl,




6-4 3.25cm? 25
0.0100 mol.dm-3HC1 CdC1,
3mA 45min
2.13cm H
H H
Q =3.25x 2.13x 10-3x 0.0100F
Q = 3x 1073x 45.0x 60/96500 F
t=Q /Q
=3.25x 2.13 x 103 x 0.0100 x 96500/3 x 10-3x 45.0 x 60
=(0.825



a=AN_IN_*

14



6-5 25 H HCO;
349.82x 10 44.5% 10-4S.m2mol"!

0.0275mol.dm H,CO, K =3.86% 10-3S.m"!
H,CO, H HCO,
H,CO, 3.86% 102S.m-!
-3
X B}
A (1,c0,) =X =381 om0 Gnol
C 2713

=1.404%10 'S’ Onol”

A _® HCO, =A = H A _® HCO;

m m

=(349.82 44.5)x 10~* S.m?.mol-!
=1394.32x 104 S.m%.mol"!



a=/N_J/A_*=1404/39432=3.56x 1073
c H =c HCO; =ca

= 0.0275mol.dm=x 3.56x 10-?

= 9.8%x 10°mol.dm™

CO’2
K, =
1-a

0.0275%(3.56%10 )"

_ -7
3 sex10” =3.49%x10




K =2 gK g 6-1-15
NaCl NaCl

NacCl
HOAc¢ H,CO,

AgCl AgBr



/A A ®=K]/C 6-1-16

6-6 18 BaSO, 3.468% 10~*S.m™!
1.5 10~4S.m! BaSO, 18
18 A _*(Ba? )=110x 10 ~4S.m?.mol!,
A _*(SO,#)=137%x 10*S.m?.mol"!
N =N *=A 2Ba2 ) A _“(S0,2"
= (110 137)x 10-4S.m2.mol-!
= 247x 10~*S.m?.mol"!
K (BaSO,) =k ( ) K( )
=(3.468 1.5)x 10-4S.m"! =2.148x 10 -4S.m"!
c=k /N _=(2.148/247)mol.m ~3 = 8.7mol.dm -3
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u=v u +v Uy 6-2-1

Y Y
U
U= °+RT lna 6-2-2a
u =t °+RThha 6-2-2b
u =y °+RTna _ 6-2-2¢
a a

(6-2-2a) (6-2-2b) (6-2-2c
6-2-1
U= °+RTlha=wv pu® +v y° )+RTIn(a ¥ a V-
6 2 3
6-2-1



u=v u® +v

a=a a Vv
14

b

a=y b/b°®

a =y b /b°®

a =y b /b°

6-2-4
6-2-5

6-2-6a
6-2-6b
6-2-6¢



ar+I/== \Y) ar \Y)
y V —— V y V
i °
iV==b V .b V
V=v +V a,
a== +V

a,=y, b /b°
6-2-8 6-2-9

u=4 +RTIna’ =4 +RTIn(, b—g ’
; b

6-2-7a
6-2-7b
6-2-7c¢

6-2-8
6-2-9
6-2-3

6-2-10



6 2

b...>0.5mol kg !

1

V

298K

HC1

y . >l



lgy. =-AJI
A /
= LZ b,z
2%
6-6
1 0.1 mol.kg 'KCI
2 KCl BaCl, KCl
0.2 mol.kg !
|, =12% ;bZ2
=1/2 0.1x 1?2 0.1x 12
,=1/2 0.1x 1> 0.5% 12

= 0.7 mol.kg !

6-2-11

6-2-12

0.1 molkg ! BaCl,

mol.kg '=0.1 mol.kg !
0.2x 22 molkg !



(Debye) (Hiickel)
1923



(D U
(2) i

3)



lgyy = —AZé\/T

A 25
mol lkg 172
6-2-7b
vigy ., =v lgy v _lgy _
6-2- 13
vigy ,=—-A v z2 wv_z_* |7
Vv z ==|V _z_| V ==V V
lgyi :_A‘Z+ Z—‘\/T

( b<0.01 0.001lmol-kg-!
]

6-2-13
A=0.509

6-2-14



(6-2-14)
gy .

z z |

0.10 0.20 030 0.40
| 2 /(mol.kg )"




6-7 25 0.005 mol kg!

ZnCl, ZnCl, y . ZnCl,
a

| =1/2Z ;b,z,°
=1/2 0.005x 22 0.005x 2x 1? mol.kg !
=(0.015 mol.kg !
lgy ,=-AZ Z |17
=  0.509x 2 x 1x 0.01572=-0.1246
y .=0.750
a ZnCl, =a,3= y, b, /b° 3
=0.750°x 0.005% 0.0102=2.10x 10 7

- Alz, z_\«/T

gy, = _2-
i} 1+aB«/T 6-2-15
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CuSO,

ZnS0,

ZnS0O,




E<E

E>E

Zn

Cu? 2¢ » Cu

Zn

2e — Zn>

Cll2 — an

Cu



Cu 2e - Cu?
Zn? 2¢ —» 7Zn
Zn? Cu- Zn Cu?

HCI1



E>E

Cu

HCIl

Zn
2H Ze - H2
Zn 2e - Zn?
Zn 2H - Zn*> H,
E<E
Cu 2e - Cu?
2H Ze - H2

Cu 2H - (ju2 HZ



(14

29

CuSO,

Cu?

/nS0,

/nS0,

CuSO,

7n?

ZnS0,
CuSO,



3 66" 29

A

aq
25

100kPa

Zn 7ZnSO, aq Il CuSO, aq |[Cu
3.

AG=W/
E
A G, =-7FE 6-3-1



A G,

AS =-
Sy = ( pe )
6-3-1
oA G 0(—zFE)
A S - — r m ey —
r~m ( GT )p ( aT )p
o=
AS =7F(— 6-3-2
r ~m (GT)p
(GE/aT),
6-3-2 A S

AG =AH TAS

AH_=-zFE+ zFT(g—_I?) p 6-3-3

r



A H

OE
=TA,S, = ZFT 6-3-4
Qr r~m (GT)p

6-3-4

(CE/ 0T ),>0 Q>0

(CE/0T),<0 Q<0

(CE/0T),=0 Q=0

A G _=-zFE AG =AG° RTInJ,
-ZFE=-ZFE® RTIn J,

E=g°-lpny, 6-3-5
zF



6 3 5 Nernst
A Gme:—ZFEe J

r a

J=1 E=E® E°

a

A G °=-RTInK ®

r



6 3 5 Nernst
A ere =-7ZFE® J

a

a,=1
J=1 E=E® E°
A G, °=-RTInK ®
E° _Ean 6-3-
zF 6
25
il =l
RUjp1g = 8310 tnol IR /X 29815K 5 30585 = 05916V
F 96485 309C Linol
0591
£ - g0 005916V, ‘.

Z 7



(-) Zn 7ZnSO, aq |CuSO, aq |Cu +
p( ) @. (C ) @

E=¢( . ¢ ) ¢
@ (



(-) Zn 7ZnSO,
()@
E=9( @

aq

ICuSO,

()

@ (
@ (

)

aq

@

|Cu +
@
o
e@
o
e |©
©
e |©
©
O

OIOININININION0,




10-10m

10-19 1
0°m



1019m

10-10 1
0°m




AgNO;(C))  AgNO;(c)

_,©
o— g o

.6
S/

C,~ G,

V>V _

0.03V

6-3-10






Hg +HgSO,

EW|| Vﬁ'L\
J 7/
A C D B
— _ _ —
an q@
\—I}/E
Cd12.5% Cd-Hg HgSO,



CdSo,

HgSO,(s) +2e —2Hg(l) + SO,*

CdSO, CdSO,

I «—

Cd(Hg )+ SO42_ -2e Cd-Hg __)r {— Hg+HgSO,
. CdSO, (s) He\_ +

Cd(Hg )+ HgSO,(s) - 2Hg() + Cdso, (s)

E:EO—RTln 1

F a,




E/V=1.01845—4.05% 105(t/ -20)- 9.5% 107(t/ =-20)



E/V=1.01845—-4.05x 107>(t/

Cd
Cd 12.5% Cd-Hg
Cd Cd-Hg
o RT. 1
E=E ——In
F a,
Cd

~20) - 9.5% 1077(t/

320-
280)-
240-
200-
160+
120+

80+

~20)?

a +f3

|

0 20 40

Hg

W -

60 80

100
Cd
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100kPa

Pt|Hy(g,p”)|H (a=1)



Pt

2H (@a=1)+2e - Hy(g,p°)

Pt H (g,p°)|H (a H )=DI Cu? |Cu

H, 2e-2H
Cu? 2¢ » Cu
H2 Cllz — 2H Cu

2
O RT aH+ aCu
O
2F a ..(py,/P)




p(H,) = 100kPa E=E°-——In

2F a 2

E-E Cu |Cu

e = EOCu2+/Cu — X In st
Cu” /Cu 2|: acu2+

E °(Cu? |Cu)
ZC —
RT £ a

E-E° - — lna 6-4-1

6-4-1



6-4-1 25

2.
1
6-4-1
E=E - E_ 6 -4- 2
2
6-4-1

E°=E °E ° 6 4



6-8 25
b=0.001 mol.kg! b=1.0 mol.kg™!
Zn| ZnSO,( |, —g734 - M CuSO(, “go4r - )| Cu

Cu? 2¢ - Cu
Zn 2e¢ o Zn?

6 4 1
E.=E ., = Ecu*ica — RT In et
Cu” /Cu 2': acu2+
a
E_ — E 2+ — EOZn2+/Zn - RT lﬂ 2
Zn" /Zn 2': a .

/n

E® cw /cu =0340V E®(Zn? /Zn = 0.763V



V=17
E . =034V- WEPIOY Ig 1 =0.307V
cu™’/cu 2 0.0471x1
0.05916V 1
E .. =-0.763V - 1 =-0.8557V
Zn”" / zn 2 gO.734><0.00l

E=E E = 0307 0.8557 V=1.1564V



6 9 25

Pt H,(g,100kPa) HCK k;:‘ii)?gé'kg ) Cl(g,100kPa) Pt

Cl, 2e -2Cl-
H, -2¢” > 2H
H, Cl,- 2HCI
6 4 1 E° Cl-/Cl, =1.3580V
E®=E®(CI/Cl,) E°MH /H,)= 13580V  H, Cl,

o RT 2

E=E - Inay, = E® -0.05916lga’

= 1.3580 2x 0.059161g0.1x 0.796 V =1.480V



Cu?* 2e =Cu
Ag"t e=Ag
2H,0 2¢ =H, g 20H

O, g 4H 4e =2H,0
Br, 1 2¢ =2Br



AgCl(s) e - Ag CI-
Hg,Cl,(s)  ‘e" - 2Hg

6 12 Heg, Cl, [

KCl
KCl /

KCl



Hg,Cl,

Cl /Hg,Cl,/Hg Cl /Hg,Cl,/Hg 2F

2 2
= EO —Eln aHgaCl_

a (Hg)=1, a (Hg,Cl,) =1

O

Cl /Hg,Cl, /Hg = ECI_/ngClz/Hg —0.05916lg acf
6-4-2 KCl
KCl E./V E,, /V
0.1 mol.dm™3 0.3335 7x 10> t/ 25 0.3335
1.0mol.dm™3 0.2799 2.4x 104 1t/ 25 0.2799

0.3335 0.2410x 104 t/ 25 0.2410




OH

H Sb,0, S Sb
Sb,0, 6e- 6H _ 2Sb 3H,O
+ =E°, -0.05916 Iga_,
H' /Sb,0;/Sb H' /Sb,0;/Sb H
OH- Sb,0, S  Sb
Sb,0, 6e 3H,0 - 2Sb 60H
_ =E° -0.059161ga
OH ™ /Sb,05 /Sb OH /Sb,05 /Sb OH

OH



Fe?
Fe2
Fe3 e
» e  Fe?
. - Fel
Ze Fe? P
— Sn?2 t
Sn*
Sn?
Pt
C.H
sH40, .
C.H
H,(OH
)

C
H,0, 2H
2e
- CH
«H,(OH
),



25

E

E

E

Q/H,Q

Q/H,Q

Q/H,Q

=E

=E

= E

@)
Q/H,Q

O
Q/H,Q

O
Q/H,Q

RT 1
In

2F  a'H")

~0.05916 lg ——
a(H )

~0.05916 pH

pH > 8.5



6-10 6-4-1 25
2Hg 2Fe’ - Hg)’ Fe?
Hg Hg? I Fe’ ,Fe? Pt
2Fe> 2e - 2Fe?
2Hg 2e¢ - Hg,’
2Hg 2Fe’ - Hg)’ 2Fe?
E°=E°(Fe’ /Fe? ) E°(Hg? /Hg) =%an ©

E®(Fe’ /Fe? )=0.770V E°(Hg,? /Hg)=0.7959V

0 L05916

—lgK ° =0.770 - 0.7959

K®=0.133



6-11 6-4-1 25 AgCl Kgp
Ag+AgCl - Ag CI- tAg
AgCl e~ - Ag Cl-
Ag e~ - Ag
Ag Ag || C1- AgCl(s) Ag
AgCl - Ag Cl-
RT

Ky, = E° = E°(Cl /AgClAg )- E° (Ag "/Ag)

6 4 1 E® (Cl -/AgCl/Ag) = 0.2221V,
E°(Ag /Ag)=0.7994V.
0.05916lg K =0.2221 0.7994
K, =1.75% 10 10



6 12 25 E=04119V
HCI
25 E° (Cl -/ Hg,Cl, /Hg) = 0.2683V
Pt | H, (g,100kPa)| HCl(b = 0.07503mol.kg-')|Hg,Cl, Hg

1/2H, g,100kPa e - H
1/2Hg,Cl, e - Hg Cl
1/2Hg,Cl, 1/2H,(100kPa) > Hg H Cl

E:EO—EIma+a_
F H Cl



E=E° —%m a.a_.
a, *=a,a
E=E®-0.05916lg(y , b, /b°)?
E°=E °(Cl-/Hg,Cl, /Hg) - 0=0.2683V
0.4119=0.2683 0.05916 lg(y , x 0.07503 )>
y . =0.82

3 pH
H OH
pH



6-13 Pt H(g p°) I
KCl Hg,Cl, Hg

pH= 6.86 25 E, =0.7409V
pH E, =0.6097V

_ 0 RT 1 _
== —_%H+/H2 — = lna + =—-0.05916 pH

H

pH

E=E 0.05916pH
E,=E  0.05916% 6.86 1
E,.=E  0.05916pH 2
pH = 4.64
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Pt H,(p) HClag) H,(p,) Pt

2H 2e —)HZ pZ
H, p, 2 -2H

Hz Py —’Hz P,
p V T

E:—RTln P,
2F  p

P =P, E>0



Ag [AgNO, Db, I AgNO, b, |Ag

Ag a , e - Ag
Ag e - Ag a
Ag a ) —)Ag a 1




Pt|H, p |HCI b, [HCI b, |H, p
HCI
H I H

t mol H
mol Cl

| Pt
b, > Db,
Cl

H

1F



- Pt|H, p |HCI b, !HCI b,
Zql

t molH a , — t molH
t mol Cl a , — 1 molCl

a, ,

AG =t,RT In +1{_RT In

a,

a a =a,, a ~=a ,

1
ai,2

AG =(t, -t_)RT In

+,1

A G =- zFE

RT . a,,

a—,l

E ==t ~t)——In



t =t E,=0
“ o KCl NH,NO,

6 14

Ag |AgNO3( =0.01mol.kg! )| AgNO3( t})/2=0.50m01.kg‘1 )Ag

bl
y ., =0.902 , =0.526

Ag b, e - Ag
Ag e - Ag Db,
Ag b2 — Ag bl

RT 4,
= In—= :—OHD59161gOBDIXOBP02 =0.027V

F o oa,, 030 % 0 (326




§ 6

H,S0,

H,SO,



§ 6

H,SO,

H,S0,




OH
Pt|H, ¢ |H, SO, aq |0, g [Pt

H, ¢ 2¢ > 2H
120, g 2H 2¢ -H,O
H, g 120, ¢ -H,0

@) RT aH ,0

E=E ——1
2F

O.1/2

AL O
(Py, /P )(Po, /P )



E°=E°(H ,H,0/0, E°(H /H,
p(H) =p° pOy)=p~ E°(H H,0[0,)=1229V
E=E®=1.229V

1.229V
1.7V
6 6 1
E/V E/V
H,SO, 1.67 NaOH 1.69
HNO, 1.69 NH,OH 1.74
H,PO, 1.71 KOH 1.67

1.7V



6-6-1

6 -6-2



/n** 2e¢ - Zn
o 0.05916 1
— lg -
2 a(Zn )




IR

15



3 Tafel
1905 Tafel
Tafel
n =a blgi

a b I



AN N - n»n O &~



6-6-

6-6-






10°
800K

LF@

40kJ.mol-!

0.6V

-A G



E =E aZFp E, =E, [ZF¢ 6 -6- 8
a p 0.5 a p[-=1
6-6-1
a a
Pt Fe* e -Fe2 0.58 Hg 2H 2 -H, 050
Pt Ce* e -Cé 0.75 Ni 2H 2e¢ -H, 0.58
He Ti*# e -Ti¥  0.42 Ag  Ag e —Ag  0.55
@
ZF E +azkg@
i =—kc k C, €X 6-6-
c A 1O A 1,0 p(— T ) ;
zF zF E, — b2F
I, =—K,Co =—K, (Cy exp(~ Pz ¢) 6-6-
A A 7 RT 10

a_lo o



. ZF E +azF ¢
ly = Tkl,oco exp[ — —

~]

RT
ZF - BzF ¢
= —k, ,C, €x = €

A 2.0 pl — RT |

- azk ¢ . L7F ¢

= k.c exp|— °1=k,c, ex c 6-6-
0 150 pl _T ] ,Cr €xp| RT ] "

ZF ZF

k —Kexp[ E /RT] k _KGXP[ E,/RT]

RT kl' RT . c,
@, = In —
Z+ Kk, zF Cx

6-6-
12
6 -6-12

Pc=@. 17, 6 -6-9



7F E.taz-\¢. —1n), _ azkn
I K, ,Co €Xp[ — RT( )] o exp| RT |
Q. =p. N 6-6-9
. ZF E, -pzr(¢. +q). _. - pzr
l, = Tkz,oCR exp[ —— RT( )] =1, exp[ ﬁ%l- I7]

i =i, —i, =i {exp[azFn/RT ] - exp[- fzF n/ RT ]}

Butler Volmer

| =1, =1,expl[azFn/RT]

C

RT RT
== —]n| +—Ini 6-6-
azF azF 16



OH

OH



a. =10

H

H
Imol.dm™3
= -(0.763V

0.48V
/n

p(H,) = 100kPa,25

RT

In

1
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p(0,) =100kPa 25  E °(OH-,H,0/0,)=0.401V
E (OH-H,0/0,)= 0.401-0.059161g10-7 V =0.815V

0.815V
OH
CuSO, a(Cu? )=1
E (Cu2 /Cu)=E °(Cu? /Cu)=0.340V
Cu? OH

OH
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a(H )=0.001 Ag Ni Fe Cd H

E H H,Ag = -0.178-0.20 V=-038V (0.7224)
E H |H,Fe = -0.178-0.18 V=-036V (-0.499)
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E. H H,Ni = -0.178- 0.24 V=-042V (-0.28)
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